122

hif

1H0
i

o

VC.192p

ELESA Original design

ZH L H
. IHE
W= PHE FHEZ o 52
FEUEH
- A
4%, 38 12
« X2l
ROy =]
ot
Z)0| wretA| 2A2IE CH5e

#1101
PF | 20
otet AEOf

EX|
_—'EOE QF-ELESA Original design-2 AFEXHOA MEH A8 S HBstn =
gl= CHebol HEf M0 HS4X 0l o| ZHES ofet
I R S | —-H-—-
0.3 o
l2
D L
Elesa = LEA} q Elesa = FQ K| LEAF aq
= N el D d 6g g TE | AFY L d d 6g | q
66121 | VC.192/25p-M5x10 | 25 M5 11 66483 | VC.192/50 p-M8x25 33 25 M8 25 55
66122 | VC192/25p-M5x16 | 25 M5 12 66484 | VC.192/50 p-M8x30 3 B M8 30 56
66131 | VC.192/25 p-Mox10 | 25 M6 10 66485 | VC.192/50 p-M8x40 3 2 M8 40 60
66132 | VC.192/25p-Méx16 | 25 M6 12 66491 | VC.192/50 p-M10x20 3 2 M0 20 63
66133 | VC.192/25 p-M6x20 | 25 Mé 14 66492 | VC.192/50 p-M10x30 3 2B M0 30 66
66134 | VC.192/25p-M6x30 | 25 Mé 18 66493 | VC.192/50 p-M10x40 3 2 MI10 40 70
66231 | VC.192/30 p-Mox10 | 32 Mé 17 66494 | VC.192/50 p-M10x50 3 25 M10 50 73
66232 | VC.192/30 p-Mox16 | 32 M6 18 66561 | VC.192/60 p-M10x20 37 M0 20 87
66233 | VC.192/30 p-M6x20 | 32 M6 20 66562 | VC.192/60 p-M10x30 37 M0 30 92
66234 | VC.192/30 p-M6ox35 | 32 Mé 25 66563 | VC.192/60 p-M10x40 37 MIO 40 98
66241 | VC.192/30 p-M8x20 | 32 M8 24 66564 | VC.192/60 p-M10x50 37 M10 50 101
66242 | VC.192/30 p-M8x30 | 32 M8 27 66571 | VC.192/60 p-M12x25 37 2 M2 25 105
66243 | VC.192/30 p-M8x40 | 32 M8 29 66572 | VC.192/60 p-M12x30 37 2 M12 30 110
66351 | VC.192/40 p-M6x10 | 40 Mo 28 66573 | VC.192/60 p-M12x40 37 U M12 40 118
66352 | VC.192/40 p-M6x20 | 40 M6 30 66574 | VC.192/60 p-M12x50 37 M12 50 128
66353 | VC.192/40 p-M6x30 | 40 M6 32 66651 | VC.192/70 p-M12x30 4 30 M12 30 140
66361 | VC.192/40 p-M8x16 | 40 M8 35 66652 | VC.192/70 p-M12x50 4 30 M12 50 160
66362 | VC.192/40 p-M8x25 | 40 M8 38 66653 | VC.192/70 p-M12x60 4 30 MI12 60 165
66363 | VC.192/40 p-M8x35 | 40 M8 40 66654 | VC.192/70 p-M12x70 4 30 M2 70 175
66364 | VC.192/40 p-M8x45 | 40 M8 43 66661 | VC.192/70 p-M14x50 4 30 M14 50 180
66481 | VC.192/50 p-M8x16 | 50 M8 52 66662 | VC.192/70 p-M14x70 4 30 M4 70 200
66482 | VC.192/50 p-M8x20 | 50 M8 53 66731 | VC.192/85 p-M16x50 55 35 Ml6 50 290
Ele‘a ELESA 2. 22 #of o{st B 49 ELESA SRS MM of Y X2 F7|8





